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Ranjan Periwal

RATIO
ANALYSIS

Ratio analysis is an important means of expressing the relationship between two numbers. Accounting
ratios show interrelationships which exist among various accounting data. A financial ratio helps to express
the relationship between two accounting figures in such a way that users can draw conclusions about the

performance, strengths and weaknesses of a firm.

Ratio Analysis

Advantages of Ratio Analysis Limitations of Ratio Analysis
«  Simplicity: Ratios are simple to calculate. They | (a) Diversified product lines: Many businesses |
are generally one number divided by another, operate a large number of divisions in quite
such figures that can be taken directly from the different industries. In such cases, ratios |
accounts (or the attached notes). calculated on the basis of aggregate data
« Liquidity Position: With the help of ratio cannot be used for inter-firm comparisens.
analysis conclusions can be drawn regarding the | (b) Financial data are badly distorted by
liquidity position of a firm. The liquidity position inflation: Historical cost values may be
of a firm would be satisfactory if it is able to meet substantially different from true values. Such
its current obligations when they become due. distortions of financial data are also carried in
« Long-term Solvency: Ratio analysis is equally the financial ratios.
useful for assessing the long-term financial | (c) Seasonalfactors may alsoinfluence financial |
viability of the firm. This aspect of the financial data.
position of a borrower is of concern to the long- | (d) To give a good shape to the popularly
term creditors, security analysts and present and used financial ratios (like current ratio,
potential owners of a business. debt- equity ratios, etc.): The business may
« Operating Efficiency: Yet another dimension make some year-end adjustments. Such
of the usefulness of the ratio analysis, relevant window dressing can change the character of |
from the viewpoint of management, is that it financial ratios which would be different had |
throws light on the degree of efficiency in the there been no such change.
management and utilization of its assets & | (e) Differences in accounting policies and |
Capital employed. accounting period: It can make the !
+ Overall Profitability: The management accounting data of two firms non-comparable |
is constantly concerned about the overall as also the accounting ratios. .'
profitability of the enterprise. (f) There is no standard set of ratios against |
+ Inter-firm Comparison: A single figure of which a firm's ratios can be compared: |
particular ratio is meaningless unless it is related Sometimes a firm’s ratios are compared with |
to some standard or norm, One of the popular the industry average. But if a firm desiresto |
techniques is to compare the ratios with the be above the average, then industry average | [—
industry average, becomes a low standard. On the other hand, |
for a below average firm, industry averages | et
s | becometoohighastandard to achieve. |




USERS OF FINANCIAL ANALYSIS
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&? PRACTICAL PROBLEMS

BASIC COMPUTATIONS

" Poge Mo & (0% The following are the summarized Profit & Loss A/C of Hind products

o ss—Ii‘oTéEq \_)2 Ltd. for the year ending 31st March 2015 and the balance sheet as on |

e that date. _
k| : e M L

Liabilities

1 < | Assets ’ 7
Share capital 2,000 equity share of 7100 each 2,00,000 | Land and buildi ‘ '
e = Y onocn e ———uiding  gala S  1,50,000
_gg.:_;erves e 90&5_%%_{50\(5239&! 90,000 | Plant Eﬂ@imajbjne_ry__, = i 80,000
| _Other current liabilities 90,000 | Stock in trad ' 1,49
Profit and IOSSK/_C_-_“— _.___'-—__-___—_'_______'___"‘*_'_'—“"—’"-—"—e“ — et 1_'49'000
Bilspayable 20000 Sundrydebtors A5 | 47000
——-payeve 30,000 | Cash and bank balance ||~ 30,000
\‘:: i _rw—m_-‘_—"-_"_—_"‘_-‘_-_ .‘-r-_?-w“-.—_--h-‘_—‘Hgni-_ﬁ"s-!eceivable--.” - s * - --_--!...A- - =
'8 — e - 4,80,000 e L 30,000
H B ~_4,80,000
t Particulars
. Particulars !
| T — o Sales (Credit) | 8,50,000
sl S -~ 545250 | By Closing stock ;' RGO
JolIncidental expenses 14,250 g ' 143000
ToGrossprofit 3,40,000 i
.. == '-":rl““ﬁ..-.;.'-w--_ e Y 1119,99,000 e e ; . 9,69,000
JoOperatingexpenses | 195,000 | By Gross profit ot 899,000
To Non operating expenses e By Nom ol i 3,40,000
TSNS T ! Operating income | 9,000
potetPoft 1,50,000 ] o
| = i S e SR,
p M. SRR 349,000
3
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From the above statements you are required to calculate the following ratios:

()  Gross profitratio. > Lo i ANV

(i) Netprofitratio. 5 [[A-Gs¥. Aw™)

(i) Operating profit ratio. > (1A, © G 'n) ek

(iv) Operating ratio. /opem-'ma ool Rulo —3&82 .9)\.1*/,) _Qﬂ)
(v)  Returnon capital employed. ~ “{1. 3% B

(vi) Net profit to fixed assets ratio. = 6 5.22 4 (Aung)
(vii) Stock turnoverratio. “\ 1\o jeeen

(viii) Receivable turnover ratio. (9 ~v~en

(ix) Creditors'turnoverratio. 5: 81 ~A{\~en

(x)  Sales to working capital. &+ 08 ~wme)

(xi) Sales to fixed assets. = A+0RAWRRD . FoA{mey
(xii) Sales to capital employed. ® 2“1 Meeen

(xiii) Return on total resources. = S|2. 5 7/,

(xiv) Turnoveron total assets. = 9 I 4w~

Additional information:
Average receivables ¥ 85,000
Average payables ¥ 80,000

Andy Company’s equity shares are being traded in the market at ¥54 ,
per share with a price-earning ratio of 9. The company’s dividend |

payout is 72 % .It has 1,00,000 equity share of ¥ 10 each and no |
preference shafes .Book value per share is ¥ 42. li

{ Pagelo. |19

Calculate:

()  Earning per share (iii) Dividend yield

(i) Netincome (iv) Return on equity

P Learning objective
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Ratio Analysis

. You are required to calculate:

S Ranjan Periwa

The followang ratios and information relate to the business m
Traders Ltd.

o i
Credit period allowed to debtors 2;mgnths —
Stock turnover Ratio 8
Lag in payment to suppliers 1 month _
Gross profit Ratio 25% on tumover
Opening stock 3 1.05,000
Gross profit for the year ended 31.3.2015 amounted to ¥ 3,00,000.

Find out :

()  Sales = \2ooows (i) Sundrydebtors = “2-Cowos

(i) Closing stock= 20k (iv) Sundry Creditors — AG82Sw

® P Learning objective

MNP Ltd. has made plans for the next year 2014-15. It is estimated that
Page Ho. S i the company will employ total assets of ¥ 25,00,000. 30% of the assats
Class Date 24(8(23 being financed by borrowad capital at an interest rate of 9% peryearn
The direct costs for the year are estimated at 3 15,00,000 and all other
operating expenses are estimated at ¥ 2,40,000. The salesrevenueare
estimated at ¥ 22,50,000. Income tax rate is assumead to be 40%.

(i) Net profit margin. (i)  Return on assets.

(i) Assets turnover, {iv)  Return on equity.

P Learning objedtive

Pinto Limited has the followihg data forpre;evcttc'h for the next five
years It has an existing Term Loan of ¢ 360 lakhs repayable over next
five years and has got sanctions for new term loan for ¢ S00 lakhs

which is also repayable in five years. As a Finance Manager you ar
required to calculate:

{1 Debt service coverage Ratioand  {i1}  Interest service coverage ratio for each year
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Particulars

Profit after tax

Depr?ciation 155 159______1,____149 , e
Taxation 125 203 5o e
Interest on term loans 162 25 ---——8«;—_---1'— —_
Repayments of term loans 178 | 178 78 L 178

@ P Learning objective

Page No. OC e
= assets and Proprietor's fund.

(lass Date 24/2 /23 _ ,
—— Ratio of fixed assets to proprietors fund = 0.75

-}

Net working capital = ¥ 6,00,000. FA2\R (D, Sh]?u
= Y\ Qo

From the information given below calculate the amount of ﬁxeg'[

i

/‘

P Learning objective

DUPONT ANALYSIS : /

A company has a operatin
PageNo. 7] 4 v turnover of 3 times. What is t
Closs Date 25 (%)2 (i) What is return on investment if -
= ) " a. Profit margin in increased by 5%?

b. Capital turnover i

c. Profit margin is

g profit marg

in of 20% and capital

he company return on Investment?

s decreased to 2 times? i
decreased by 5% and capital turnover isi

"Pageo. A\
(loss Date 2.5 _gglt_gmiﬁﬁﬁl_a#._-u
N sales .|

‘Capital Employed |

Compute capital turnover ratio, Net operating profit ratio and applying Du
relationship between the two.

et o
R

200000 | 22

5000 | 175000

pont analysis state the /'

|
|

Ratio Analysis
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PREPARATION OF BALANCE SHEET FROM RATIOS

P'ugouo' oy

‘ ! From the following information of X Engineering Co., complete the
A\ Closs Date 2419 /2.3

Proforma Balance Sheet if its sales are 7 16,00,000:

sales 1o net worth

| 2.3times
Current Ilabilltimlonvlworth A ——— E 42%
Total liabilities to net worth o ! 75.%
Current ratio - —— = | 2.9 times
Sales to closing inventory |__4.5 times
Average collection period - |__64days

|| G

Liabilities Assets 2
Networth 7 |Fixed assets 2
Long term liabilities - Cash 2
Currentliabilities | 7 [Stock ?

i ——_— Sundry debtors ?

) B Leorning objective

Page flo. 1 44 The following figures and ratios are related to a company:
: (loss Dnle 'J.H[ [g l 13

_ (1)~ Sales for the year (all credit)

# < 30,00,000

(27 Gross Profit ratio A5 Bercent

- (3)  Fixed assets turnover (basis on cost of goods sold) 15

(4)  Stock turnover (basis on cost of goods sold) 6

(5) Liquidratio 1:1

(6)  Current ratio 151
(7)  Debtors collection period

2 months

(8)  Reserve and surplus to Share capital 0.6: 1
(9)  Fixed assets to net worth

r 4201
You are required to prepare Balance Sheet of the company on the basis of above details

P Learning objective
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Gross profits

Sharcholdersfinds ——————————
Gross profit margin e 13600000
Lreditsalestototalsales - o __120%

Total assets turnover == —  —— S— .0

Inventory turnover - S R

_Average collection perioaﬁm&—*—-—h————u—~-—

Current ratio

Long term debt to equity

|
Balance Sheet
Creditors - Cash
Long term debt - Debtors
_Shareholder's funds - Inventory
Fixed assets

P> Learning objective

From the following particulars prepare the Balance sheet of Sri Mohan
PageNo. {0 G)|oT - u Rissii
A\ Coss Date 29 \R |2 1 2

2

Current Ratio % 4,00,000
Working capital 32
Capital Block to current Assets - 1:3
Fixed assets to Turnover T g .
Sales Cash/Credit RN (- ;| ;| S —
Creditors velocity . === Romnonths. o
Stock velocity . N 1T EC—

oci it —t
Deb} OISBTEIk = IS I 10% of turnover
CapltaP g: R e T [ 2,9 of turnover
e T
s - ; e S CE f sales)
__Debenture/share capital - ————— y 125% (ol sates

I

_Gross Profit Ratio

P Learning objective

Ratio Analysis




T

—

With the help of the following information, complete the
I

—

Balancg
Sheet of XYZ Ltd.
e !
{
|
—_— 21 00000
Equity R _0.40 )
% | SurentDebttoTotal Debt S 0.60
2 -Total Debt to Owner Equity TN — 060
£ -Fixesi__&s_s‘e_t_s_m':zswﬁgyﬂy__‘_.. = 2 Times
. Total Assets Turnover R 8Times ¥
= mm_ryjﬁng\@r________ — .
&
% P Learning objective
L e — SR

(i) Total debt to net worth

Using the following informati

on, complete the Balance Sheet given |
below:

|
i
|
!

el e
1:2

(i) Total assets turnover : 2

(i) Gross profit on sales . 30%

(iv) Average collection period (Assume 360 daysina year) : 40 days

(v) Inventory turnover ratio based on cost of goods sold and year-end inventory : 3

(vi) Acid test ratio . 0.75

Balance Sheet

- Equity Share Capital
 Reserves and Surplus
. Total Debt:

Current liabilities

As on March 31,2015
| 4
4,00,000

Assets
Plant ang Machinery

6,00,000 |ang other Fixeq Assets H2Soco?
Current Assets:
Soutow Inventory TFovoo
Debtors

Cash e
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' PREPARATION OF BALANCE SHEET AND P & L ACCOUNT FROM RATIOS

k4
Capital 4,00,000
Working Capital 1,80,000
Bank Overdraft 30,000

There are no fictitious assets. In current assets there are no assets other than stock, debtors and cash.
Closing stock is 20% higher than opening stock.

(i) | CurrentRatio -2.5 il

(i) | Quick Ratio - 2 (Quick Asset / Quick Liability) =

(iii) | Proprietary Ratio 0.6 (Fixed Assets / Proprietary Fund)

(iv) | Gross Profit Ratio -20% to sales

(v) | Stock velocity -5

(vi) | Debtor’s velocity =73 days

(vii) | Assumed 365 days in a year

P Learning objective

( Page No.1QR /| 02 relate to the year ended 31st December, 2015
\ (luss Date2™ l§|l3

The following accounting information and financial ratio of PQR Ltd. |

I | Accounting Information:
Gross Profit 15% of sales
Net profit 89% of sales
Raw Materials consumed 20% of works cost
Direct wages _ 10% of work cost
Stock of raw materials _ 3 months usage ||
Stock of finished goods 6 9 of works cost |
Debt Collection period 60days ||

All sales are on credit

Il | Financial Ratios:
Fixed Assets to sales

Fixed Assets to Current Assets
Current ratio S
Long -Term loans to current liabll liabilities
Capital to Reserves and surplus ___

Ratio Analysis
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_ Ranjan Periwal

If value of fixed assets as on 31st December, 2015 amounted to ¥ 26 I::]i;flr'».ll:}:jf:ﬁ:i’ r‘:‘?"‘r:‘:::gr’::""‘:‘I:I:Jfr!
and Loss account of the company for the year ended 315! December, 2015 and e £ sheet 5
on 31st December 2015.

P Leoming objective

T r—— s =
From the folloWIng Information and ratios, prepare the Profit and Loss
u A/c for the year ended 31st March, 2015, and the Balance Sheet as on f

that date Ofw 5,§E’Wrﬁ __,,,-f’"'ﬂ ;
L 0 V)

Page No. 112, 113
Class Dote 2

Ratio Analysis

g

: = 32
irrent Assetstostock _ - - 300
i R e = 300
[Eamings per Share (eachof?10) SRR, (S ! o
BookValuepersharet) 4000
| Average Collection Period (assume 360 days in the year)

| | 30days
“Stock Turnover Ratio (on sales) _.5.00

mrxedAsset/TunoverRato T 35,

___________ R I .
_Net Working Capital

NetprofittoSales e —————— i L _10%
Variable Cost

le ( e Er—— N . 60%
LlongTermLoaninterest —_— ol 12%
P R e e r————— e M

Following s the Profit and Loss Account and Balance Sheet of Jai
Hind Ltd. Redraft them for the purpose of analysis and calculate the 1'
following ratios: (1) Gross Profit Ratio (2) Overall Profitability Ratio |

(3) Current Ratio (4) Debt-Equity Ratio (5) Stock-Turnover Ratio 6) !
Finished Goods Turnover Ratio (7) Liquidity Ratio, 1

Guss Date 24 (323

Profitand Loss A/C for the yearendad 31t March, 2022

infseisbhedst e A = Amount (X) _ |Parll_cu!prs B Amount (2)

‘ | Opening stock of finished goods 1,00,000 | Sales TR

| Opening stock of raw material | 50,000 e

| Purchase of raw 3,00,000 | Closing stock of finished 100,000
Comaterial — goods

Closing stock of raw material

i %_Dirgc;_ wages A ) 200,000 Proﬁt_on SalEOfshares 50'000
o~ | | Manufacturing | 1,00,000 m|
expenses | .

f e -!'ﬂa-r‘n‘iﬁ'l‘str'ation i 50,000 e S

! g | |
.‘_ —-'-‘_-J | SXpENSes '
i )
o
' ©
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T AT, |
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Selllng&dlstrlbutlon r_xpenses | - '50,(}00' :
Lossonsaleofplant | | 55000

Interest on ' '1'0‘006 '

debentures |

NetProfit | T 385,000

Total | | 1300000/Total | 13,00,000

b BORRY I (R (. Balance Sheet as on 31.3.2022 ' i1.g
BT D o -_j}_mount .. Assets e o TAmoURt(D) | %
Equltyshare capl'gql_ ______________ S 100000 erd asJets - 2,_50,000 Z
Preference share 100000 Stock of raw material | '1,5‘:’),004."), '%
capital o B | i
Reserves | 1.00000|Stockoffinishedgoods 1 100000,
Debentures | | 2,00,000 | Bankbalance | 50000
Sundry creditors 1,00000|Debtors Lo 1,00,000
Bills payable BOD00T i |
Total 6;5(]';000 Tﬂ?_t_a_l_______ﬂ___“__ o ke 6;?91000

?2'_'_ ‘ ! ‘From the i 1nformatidh—.g_i";éﬁ-b_éind\_a}_'r.;f;t'lﬁg"igbad Past
_Egge lo. ‘ - — Altman's Z-score and comment:

Uuss Date 2s '2.

() | Working Capital toTotal Assets aaem|=23%
(i) | Retained Earnings to Total Assets IR . -
=15%

M EBIT to Total Assets PR R Sy Lz e ——
(iv) Market Value of Equity 5F Shares to Book Value of__'[gt_g_l_l?gt}}_ﬂ =150%
=2times

(v) |Salesto s toTotal Assets ot e Rl




Ratio Analysis

Equity Share Capital

10% Debentures
Sundry Creditors
Bills Payable _
Other current Liablllties .
Total

mation are avallable for Navya

[

Ltd along with various

'Followlng mfor

ular industry

it belongs to. APPRAISE your

ratios relevant to the partic
comments on strength an

ratios with the given industry norms.

Balance Sheet

48,00,000 |
920,000
~6,60,000
_8,80,000| Stock
440000
_77,00,000] Total

Liabllities ~ Amount (%)
Fixed Assets

Cash

Statement of Profitability
For the year ending 31.3.2021

d weakness of Navy:.

Sundry 'c-ié_bto_rs B

a Ltd. comparing its

24,20,000
8,80,000

| 11,00000
e ____2_3_190_‘02[.]_

| 77,00000

Particulars Amount(%) | 'Amount(X)
Sales 1,10,00,000
Less: Cost of&)satﬁh -

Material 41,80,000

Wages 26,40,000
Factory Overhead 12,98,000 81,18,000
Gross Profit 28,82,000

Less: Selling and Distribution Cost 11,00,000
‘Administrative Cost 12,28,000 23,28,000
- Earnings before Interest and Taxes 5,54,000
Less: Interest Charges 92,000
Earning before Tax 4,62,000

" Less: Taxes @ 50%
Net Profit (PAT) i'::: ggg
Industry Norms
Ratios
Current Ratio l Norm e

Receivables Turnover Ratio D oo 2.5
Inventory Turnover Ratio (based on Sales) e 8.0
Total Assets Turnover Ratio —— 9.0
Net Profit Ratio T ——— e 2.0
* Return on Total Assets (on EBIT) e R i 3.5%
~ Returnon Net worth (Based on Net profity i RN 7.0%
Total Debt/Total Assets s N S 10.5%
e I S e B 60.0%

@ P Learning objective
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i ! The capital structure of Beta Limited is as follows:

Page Ho. \\R}

Cluss Duie 25[8 23

Equntysharec_q_;_:_n!g!of?IOgach 2o ccc%r = Noogo® '-f:::.:f- BRI
9%preferencesharecapltalof?wg_a_c_l'_ah e B i - 3/ ’JfJJ
- 1 '.»f-!).h

Additional mformatlon Prof' t (after tax at 35 per cent) 12, 70 000 Deprecatlon 4 60,00& Eguity drvicend

paid 20 per cent; Market price of equity shares 7 40.—— N~

You are required to COMPUTE the following, showing the necessary workings:

Ratlo Analysis

(a) Dividend yield on the equity shares

(b) Cover for the preference and equity dividends

(c) Earnings per shares

(d) Price-earnings ratio

® P Learning objedtive

Pagello. \ \© Gig Ltd. has furnished the following information relating to the year
e ended 31st March, 2020 and 31st March, 2021:

Class Dn!e ‘2.*f 2 / _

Share Capital AR 4000000 40,00,000
ReserveandSurplus | 2000000 2500000
Long term loan 1 PVOOROOL 300,000

Net profit ratio: 8%

Gross profit ratio: 20%
Long-term loan has been used to finance 40% of the fixed assets.

—=
Stock turnover with respect to cost of goods sold is 4. :§ ’

Debtors represent 90 days sales,

The company holds cash equivalent to 172 months cost of goods sold.

Ignore taxation and assume 360 days in a year.




[ Assets
THined Aty

Rewwive and Surpias Sundry Debtors

§ Ot Ran Closing Stock
: Sudiy Qe Lash inhand
b e

: 3

.' =

! s1 —~ S ———————

i < § TN P Leoming slincdve

: SN

EI; § *%\

i

A (o Doty

23

labilities are ¢ 98,000; inventories
Determing the average

A A M S NP e e

ALY,
L) Determine the

debtors is intendad to be
SOLUTION

O O ) a
Q) Inventory turnover = _COSt ¢ ‘i‘?;??ﬁ?j_&‘_‘,d_
Average nventory

Since gross

Cost of goods sold = 083 XY 840,000 = T 5,944,000

TS44000
— A s
Average inventory

Thus= =5

< 1544000

Average inventory =3 1,08800

: . Average Receivables
(b) Average collection fiod = €S 3¢
s CreditSales 360 days

Average Receivables = (OPening R&ceivables:__(:las_ in 9 Receivables)

-

——  Clesing balance of receivables is found as follows:
A T s e
T Sumentassets @5 of cumrentlabilites) I ———
— s e | a80001
=) Csh ———— e L e
| )
[ ]
L]

e ap MTPSIDIST | BOLTE NS
e s e A PRI

The total sales all cradit) of a firm are ¢ 6,40,000, It has
Manin of 18 per cent and a eurrent ratio of 2

profit margin is 15 pey cent, hence COGS should be 85 per ce

a Qross ;')mﬂl
S The firms current
T A8,000 and cash T 16,000, (a)
nventory to be carried by the firm, if
nventory turnover of § times is expected? (Assume 4 360 day year),

an

average collection petiod if the opening balance of
oft 80,0007 (Assume a 360 day year),

nt of the sales.




(T 1,76,000 + X 80,000)
2

Average Receivables = ¥2,56,000/2 = 1,28,000

Average Receivables =

: . ¥ 1,28,000
Average collection period = ——-————— -
g peri % 6,340,000 x 360 = 72 days

P Learning objedtive

Ratio Analysis

this balance sheet:

Using the following information, complete

e e A e s T L = a0

-quﬂq:_.________
i\ Closs Date

Long-term debt to net worth | 0.5t0 1

Total asset turnover
‘Average collection eriod*
Inventory turnover
Gross profit margin
Acid-test ratio

25X
18 days

Inventor

Plant and equipment
Total assets e
SOLUTION
Long-term debt  _ 0.5 Long-term debt

Net worth e 2,00,000
Long-term debt = 1,00,000
Total liabilities and net worth =7 4,00,000
Total assets = T 4,00,000

Saies <25 _ Sales  _sales=Y10,00,000

Total assets ’ 4,00,000
Cost of goods sold = (0.9) (% 10,00.000)= £9,00,000 | %_I
LCostof goods sold _ 9,00000  _ g nventory =% 1,00,000 |

~ Inventory
e

Inventory




Receivables x 360
10,00,000

= 18 days

Receivables = ¥ 50,000

Cash + 50,000
1,00,000

Cash =% 50,000
Plant and equipment =¥ 2,00,000

Balance Sheet

Cash 50,000 |Notes and payables 1,00,000

ll' Ratio Analysis

Accounts receivable 50,000 |Long-term debt 1,00,000
Inventory 1,00,000 |Common stock 1,00,000
Plant and equipment 2,00,000 [Retained earnings 1,00,000
Total assets 4,00,000 |Total liabilities and equity 4,00,000

P Learning objective

From the following information, prepare a summarised Balance Sheet |
as at 31st March, 2002: |

|

| Net Working Capital % 2,40,000
! Bank overdraft 40,000
H Fixed Assets to Proprietary ratio 0.75
!' Reserves and Surplus %1,60,000

| Current ratio 2.5

' Liquid ratio (Quick Ratio) 15

|
i
&
i

1
. ]
H
i
|
|

3

4

y




T R

SOLUTION

Working notes:

1. Current assets and Current liabilities computation:

[ Current liabilities
7 1,60,000 [02.5 = 4,00,000

1l

So, Current assets

Currentassets 25
Current liabilities ~ 1
Or Current assets = 2.5 Current liabilities @
Now, Working capital = Current assets -Current liabilities %
Or ¥ 2,40,000 — 2.5 Current liability - Current liability %
Or 1.5 Current liability = ¥2,40,000 E
= ¥1,60,000

2. Computation of stock

Liquid assets
Liquid ratio= —=—
iquid ratio = =" S iabilities

Current assets — Inventories
¥ 1,60,000

Orls5=

Or 1.5 x 1,60,000 = ?4,00,000|lenventories

Or Inventories - Z4,00000-%2, 40,000

= ¥1,60,000

Or Stock
3. Computation of Proprietary fund; Fixed assets; Capital and Sundry creditors

E— i REA BT, i35
ixed Asset to Proprietary ratio = 5o atary fund

— 0.75 Proprietary fund (PF) [FA + NWC=PF

Fixed Asset
or NWC = PF-FA (i.e..75 PF)]
and Net working capital (NWQ)= 0.25 Proprietary fund
Or % 2,40,000/0.25 = Proprietary fund
Or Proprietary fund = 9,60,000
And Fixed assets = 0.75 proprietary fund
= 079803 9,60,000
= ¥7,20,000
Capital — Proprietary fund - Reserves & Surplus :
= 9,60,000- 1,60,000 = 8,00,000
Sundry creditors — (Current liabilities (] Bank overdraft) :

- (%1,60,000- % 40,000) = ¥ 1,20,000
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Ratio Analysis

s B e . s B

SR ey

Ciprort 225555

PP e g .
L. iy vt 4

inventory Turnover Ratio

Credtors Turnower Batio
Debtors Turnover Batio
Current Patio

Gross Profit Ratio

Total sales 7 20,00,000; cash sales 25% of credit sales; cash purchases 7 2,30,000; working capital T 2.80,000:
ciosing inventory is 2 20,000 more than opening inventory.

You are required to caiculate:

(1} Averzge inventory

liity Averzge Debtors

(v} Hhverage Payment Period

{vii) Cursent Assets

Answer

(i} Computation of Average Inventory
Gross Profit

(i) Purchases

{iv) Average Creditors

(vi) Average Collection Period
{viif) Current Liabilities

= 25%0f730,00,000 = 7 7,50,000

Cost of goods sold (COGS) = Seles-GrossProfit = 230,00,000- 7 7.50.000
= ¥22,50,000
e COGS
Inventory Turnover Ratio = Average Inventory
. 2250000
6 "~ Average Inventory

= 1 3,75,000

Avetate inventory




~Ranan Poriwal _
uu Computation of fare ham‘.

P Dases = COUS 4 (CIsing Stock - Openiing stack) = € 22,50,000 4 80,000*

P hases = § 23,30 000
Fincrease in Stk = Closing Stoack - Opening Stock = € R0,000

(i) Computation of Average Dabtors
K
Lot Credit Sates be $ 100, Cash salps = ]::,}:I -x 100 =¥25

Total Sates = 1004 25 = T2
Total Sales s € 125 Credit sales s € 100
$ .
it total sales is € 30,00,000 then crodit sales is = t30 'Onf][;n:’- .3 100
Credit Sales = € 24,00,000
Cash Sales = (2 30,00,000 - ¥ 24,00,000) =¥ 6,00,000

Debtors Turnover Ratio = G CreditSales G ¥24,00000 _
Average ‘debtors Average debtors
2
Average Debtors = - -—-?-'-1—%0 000

Average Debtors =¥ 3,00,000

{iv) Computation of Average Creditors
Credit Purchases = Purchases - Cash Purchases
= ¥23,30,000-% 230,000 =Y 21,00,000

Creditors Turnover Ratio = Credis Purcha_ses
Average Creditors

¥21,00,000
10 = :
Average Creditors
Average Creditors = ¥2,10,000

{v) Computation of Average Payment Period

Average P. Period Average Creditors
ge Payment Period = “ue 2 ge Daily Credit Purchases

_ %210000  _ _ ¥210000
~ Credit Purchases} B ; ¢ 2,10,000
(
365 365
7 2,10,000

x 365 * = 36.5 days

= 722,10,000

—mn




jod . A
ection Pef £30 0,000 _ y 365 46,625 days

btors x 305" g 24,00,“00

Average De

Average Collection period = et Credit Gales

Alternatively

3(!5_"__ J—
Average collection Period = chtms Turnover Ratio
5 ftj‘:‘:ﬂ — 45,625 days
-8

* | year is taken as 365 days.

Ratio Analysis

(vi)Computation of Current Assets

 currentAssets (CA)_ 54
Current Ratio = rrent Liabilities (CL)

2.4 Current Liabilities = Current Assets Of CL=CA/24
Further, Working capital = Current Assets - Current liabilities
=CA-CA/24

So, ¥ 2,80,000
72,80,000=1.4CA/240r, 1.4 CA = 716,72,000

CA = 14,80,000

 (viii) Computation of Current Liabilities

Current Liabilities = 4'8,‘? f{)o =% 2,00,000

D P> Learning objective

S e

i e




ADDITIONAL QUESTIONS

Presently, the current assets and current liabilities of a company are |
216 lakh and 28 lakh respectively. Calculate the effect of each of the |

following transactions individually and totally on the current ratio of |
the company. l

ash purchase of new machinery for ¥5 lakh.
Purchase of new machinery for 210 lakh on a medium-term loan from 1
the bank, with 20% margin. Ul) :
Payment of dividend of T2 Iakh\“') !

Receipt of a shipment of new materials at landed cost of 25 lakh, |
against which the bank finance obtained, is ¥ 3 lakh. Q’)

Ratio Analysis

You have been furnished with the fi nancial information of Adrtya Mills | |

Ltd for the current year. ,

Poge No.9> o ®
A\ Joss Date 2 §)23

Liabilities Amount Assets Amount

(Z thousand) (Z thousand)

Equity share capital (¥ 100 each) 1,000 | Plant and equipment 640
Retained earnings 368 | Land and buildings 80
Sundry creditors 104 | Cash 160
Bills payable 200 | Sundry debtors 360 o
Other current liabilities 20 | Less: Atlowances/' p.a.00 40 320
Stock 480

Prepaid insurance 12

1,692 1,692

statement of profityear ended March 31, current year

Liabilities Amount

: ( thousand) |
_________—--——*'—"_"—._._-—-——-"—'— .....

Sales o g _ﬁ_______“f_{],?

Less: Cost of goods sold B R T_______-’g_gg% e

Gross profitonsales e el N, i ____656_ : g

Less; Operating expenses e ——

Hatprofit O?GE _a_ﬂ@ T EST L _";2 r—

Less: Taxes (0.35) N —— —

Netprotoo.mes [EOT JERESBN Tse] ¥




WA

_ —
( A P ALIKKD 1653t 8 v6L
Sundlry debtors and stocl af e bisginning af (e yoar were 500,000 and T AL

) jes, () P b Aest 1tk GiT) Sbent ¥ Visseier ey,
Determine the followlig tatios of the Aditya Milfs L. () Carrent ratio, h“:‘:dr;fm !"/m;!:‘ii’rnfi’ﬁ‘- 841 Shinte,
(V) Debtons turavesr, (v) Gross profit ratio, (vi) Het pirofit ratio, ""’m“f‘h;}',;;' ‘r’nllm" lf}!rff'lf*‘rz
(b Rate of returm on equity capital, and (x) Markat valis of the shares |

__.-—--"-H-\_‘_\
:’ :q ‘\ -y -

- v ptieRY ety fyr i 1
I|’n\1lr'nﬁf\7\-n"'¢f:uh of the followlng transae tons whether the transaction weotled unpﬁﬂ: ?’;;‘;/‘ i}"f:;":
eHecton the cument ratio of the Aditya Mills 1t (1) Sell additional equity shiares, {”f,'f_' i :{., “ ¢ ; v
Dy Bills Ppayable, (lv) Colloc sundry debtors, (v) Purchase additional plant, f:”’ Jsstain ;j : 'f:;/:'"' 4,:
\t"lmlilnl:‘, Vil Collecting bBills recolville from debitors, (villy Purehase of treasury bills, anic . ’{.’ M ﬁ"'i”"; e

s i 11 4 Gy V17 &
bad debt, ™ DI Basue W) vy e ){‘f") L4 Qe Qo) :

} / 6L oprd b IR r,’,-"_'f'-f,l ‘/‘f.f-‘/ll‘.'f/:,T
A\ deoenber, () pyy aogmrs g tig e85 0t %11 ; g £ 3 COmMmosr
Poao N 9 The following Is the summary of the financial ratios of 4 ¢ Hirstry |
ogo No. o _
0 (16 relating to it leguidity position:
Class Date 9 «

29 g

S Yoar1 [ Yewrs | Years ;
Carrentratio TR e 2130 228\ Acheo. thou
Addtestratio 120 100] _ "T090] Ye knaDh i
Debtors twrnover |~ BT N— s P
Stocdmever IR e [N g,

" The current ratio Is increasing, while the

acld-test ratio | decreasing, Explain the
this apparently divergent trend,

contributing factorts) for

| Below are selected ratios for two companias in the

. \\6
Poge No -\“- | along with Industry averagoe;

Closs Dato 25| 2| 23

same industry, |

(]

Current ratio 221 561 q24?
Adddtestratlo |51 )
eoemepensat | el gl -
somneroftmes nteresteamed | T gl L T

| [Stocktumover T T T
SR M 0 ] M 1501 T
 [Rateofretum ontotalassets — |5 200 T

Hitil canwe say on the basis of above ratios and information (h
| its ratios are better In six out of elght areas (all exce
) company B s better than the industry average

at company g s bestter than com,
Ptstock turnover ang rate of retyyp ont
Inthe same gix categories,

Pany A because
Otal assets)? The

e e T e s e




Capital Budgeting

~

AL ' g

CAPITAL

BUDGETING

The term Capital Budgeting refers to decisions relating to proposed long-term capital outlays, The
capital budgeting decisions are important, crucial and critical business decisions due to f°||0wing

reasons:

1.

Substantial expenditure: To invest in a project, a substantial capital investment is required. Dye
huge capital investments, it is necessary for an entity to make such decisions after a thorough study
and planning.

Long time period: The capital budgeting decision has its effect over a long period of time. Thess
decisions not only affect the future benefits and costs of the firm but also influence the growth of th:
firm.

Irreversibility: Once the decision is implemented it is very difficult to reverse the decision.

Complex decision: The capital investment decision involves future events which is difficult to predict
Further it is quite difficult to estimate in quantitative terms all the benefits or the costs.

CAPITAL BUDGETING PROCESS

- Opportunity Cost: Alternative cash inflow foregone due to acce
- as opportunity cost and should be included in our analysis,

1. Planning: The capital budgeting process begins with the identification of investment opportunities.
Then the effect on the firm's fortunes is assessed. Opportunities having little merit are rejected anc
promising opportunities are advanced to the evaluation phase.

2. Evaluation: This phase involves the determination of inflows and outlaws. Investment techniques
ranging from the simple payback method and accounting rate of return to the more sophisticated
discounted cash flow techniques, are used to appraise the proposals.

3. Selection: Considering the returns and risks associated with the individual projects as well as th
cost of capital to the organisation, the organisation will choose among projects so as to maximise
shareholders’ wealth.

- 4. Implementation: When the final selection has been made, the firm must acquire the necessary fund
purchase the assets, and begin the implementation of the project,
- 5. Control: The progress of the project is monitored with the aid of feedback reports.
6. Review: The review may produce ideas for new proposals to be undertaken in the future.
RELEVANCE OF COST

red

ptance of any project should be conside




e L T T T e

" odified internal Rate of Return

oneofthepoint® advancedinfavourofthe IRR approachis that Ingi
ers may prefer to t'hlnk in‘percentage termmis. Bt (R ha:ta RRis expressed as a percentage and decision
orcentag® that c_onta:r.xs the implicit assumption that fE‘furnT:: ?een criticized on the grounds that itis 2
has been much discussion about this point. It may not be pOSSibef :;vested ata ratle equal to the IRR There
flows atarate of rem"j‘ equal to the project's internal rate of returnw‘rr? e ﬁr‘m " intermediate cash
ned about tlhe impact of the reinvestment debate have pfc;vidi ;na:ystsfavounng the use of iRR but
which c_&rcumvents any reinvestment worries. This is caf’ed}h‘: "”c:;r;ed c?ewce, also consistent
he termln'al rate of rettfrn. Under this method, all cash flows ap;r:r;, i e: 'T‘tffngi rate of return
prought t0 the terminal value using an appropriate discount rate (thn'COSt po o the m.'na.l mvest‘men‘t, are
stream of cash inflow in the terminal year. The MIRR is obtained by a;SUmin Ca;:futa?_Th:s re.;u?ts in a single
ear and the terminal cash inflow as mentioned above. The discount rate v ?}'a :ng e e =
sl cash inflow to the zeroth year outflow is called the MIRR vhich equates the present value

concer
with NPV,

(MIRR) ort

of the termin

&3 PRACTICAL PROBLEMS

8ASIC PROBLEMS - NPV, PI, PAY BACK, DISCOUNTED PAYBACK, IRR, ARR

XYZ Ltd. is a manufacturer of high quality running shoes. Devang.

President, is considering computerizing the company’s ordering,
inventory and billing procedures. He estimate that the annual saving
from computerization include a reduction of 10 clerical employees
with annual salaries of 715,000 each, 78,000 from reduce production
delays caused by raw materials inventory problems, 7 12,000 from lost
sales due to inventory stock out and ¥ 3,000 associated with timely

"PageNo.
(ass Date

. '
e i

ﬂ |

sts are T 50,000. These outlays will be

capitalized (depreciated on a straight- line to a zero book salvage value, which is also its market value at
the end of 5 years). Operation of the new system requires two computers specialist with annual salaries
of 7 40,000 per person. Also annual maintenance and operating expenses of ¥ 12,000 are ‘-—‘Stirf’ated‘to oe
required, The company’s tax rate is 40% and its required rate of return (cost of capital) for this projectis

12%. You are required to:

The purchase price of the system is  2,00,000 and installation co

(i) Find the project’s initial net cash outlay

(i) Find the project’s operating and terminal value cash flows over its 5-years life
(ii)) Evaluate the project using NPV method
(iv) Evaluate the project’s using P! method
(v) Calculate the project’s payback period

(vi) Find the project’s cash flows and NPV assumin
five years even though the book salvage value will be z€

g that the system can
ro, and

Capital Budgeting

be sold for X 25,000 at the end of ?
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(vii) Find the project’s cash flows and NPV assuming that the book salvage value for de
is ¥ 20,000 even though the machine is worthless in term of its resale value.

preciation PUrPose, .

B Leorning obiedive

A company is contemplating to purchase a machine. The machine 4
andBareavailable each costing? 5 lakhs. In comparing the profitability
of machines, a discounting rate of 10%is to be used and machine isto
be written off in 5 years by straight line method of depreciation with
nil residual value. Earning after taxation but before depreciation o
cash inflow after tax are expected as follows:

o
E
Rt
@
o
°
.
@
"
=
a
C)
¥

Machine A Machine B s
( In lakhs) Z In lakhs) *

1 15 0.5
3 2.0 15
43 2.5 2.0
L 15 3.0
i 5 1.0 20

Indicate which machine would be
1 l () Payback method:
| (11 (i) Net present value method:
1 (i) Profitability index method: and
1 il 5 | (iv) Average rate of return method,

| ; P> Learning objective

(" Page No.
(loss Date
" | — -

Year | ProjectA | ProjectB | Discounting factor @ 16%

profitable using the following methods of ranking investment proposal:

—

A company has to make a choice between two project namely I
A and B. The initial capital outlay of two project are % 1,35,000 and ]
¥ 2,40,000 respectively for A and B. There will be no scrap value at the

end of the life of the both the projects. The opportunity cost of capital |

of the company is 16%. The annual cash inflows are as under: 1

S

|
] 1 —— 60,000 0.862 a
_;__j f |__2 30,000 84,000 0.743
=il 3 1,32,000 96,000 0.641
;_ 4 84,000 1,02,000 0.552
5 84,000 90,000 0.476




‘iftlll:\'f_-
Ranjan Perival “;\3
AT _jc
il’;:;‘;;{:glé'

vou are required to calculate for each project:

() Profitability index
(ii) Net present value

g P Learning objective ]

A hospital is considering to purchases a diagnostic machine costing
u 7 80,000, the projected life of the machine is 8 years and has an
4 expect_ed salvage value of 7 6,000 at the end of 8 years. The annual
operating cost of the machine is T 7,500. It is expected to generate '
revenues of 40,000 per year for eight years. Presently, the hospital is
outsourcing the diagnostic work and earning commission income of
Z 12,000 per annum, net of taxes. Tax Rate - 30%, DRR - 10%. '

profitable for the hospital to purchases the machine? Give your

Capital Budgeting

Required: Whether it would be
recommendation under:
(1) Net present value method

(2) Profitability index method.

S B> Leorning obiefive

@

Consider the following mutually exclusive projects:

Poge lo.

d s R S

Required:
(1) Caleulate the payback period for
(2 I the standard payback period is 2 years,

standard paybiack pefioc g e iscounted payback period for each project. Which project

{31 . te the d =

{3) H the cost of 1al is 10%, compy 4 . ars?
viill you reco capl d, if standard discounted payback periodis 1) 2year; 2)3years: :
you recommend, <itilch prOjeCt will you recommend on the NPV criterion: The cost ©

each project.

which project will you select? Will your answer differ, if

S o aiof aach prEEE PR e ks 7The PV factor at 10% are: —
c«;::'i;::; g%{v.?miéti wi!fbejappropriate choice cnt":r,l? -T t"hls'i% The :JJ— L __I_-ddm
ital is 10%. What vill be 2PPrOPT i 5308830
Y fa _-_:_'e_a,!----‘o"%&' A . ~ 08264 ! 07513088 E_'
PV factorare 1066 ——"
:g‘; P Lsaring shjective
f i
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The mana
costing fg'le;:)e(?otgoi Ul;mlia Ltd.is considering an investment project
end of its 5 years lf fjr it will have a scrap value of ¥ 10,000 at the |
are expected to b; = Sra”SDOFtatlon charges and installation charges |
R S 35,000 and ¥ 25,000 respectively. If the project is
pare part inventory of 2 10,000 must also be maintained.

Iti

of 56322“;?;‘2:’3‘ the spare parts will have an estimated scrap value | § @

project is ex t":;hal cost after 5 years. Annual revenue from the | -§

malﬂtenancsec ed to be ¥ 1,70,000 and annual labour, material and | _§1

bl expenses are estimated to be ? 15,000, 2 50,000 and | § 2

respectively. The depreciation and taxes for five years will be: | %

Year | Depreciatuon ) Tax () =
3 _. 32,400 27.040
4| 21,600 31360
5 i 800 39,680

(i) Calculate the cost of the project and scrap value of the following after 5 years.
(i) Evaluate the project at 12% rate of interest.

P Learning objecfive

1

The management of P Limited is considering selecting a machine out | |
of the two mutually exclusive machines. The company’s cost of capital |

is 12 percent and corporate tax rate for the company is 30 percent. | '

Details of the machines are as follows:

| EVALUATI_ON OF MACHINE WITH UNEQUAL LIFE

Machine-1 Machine-2
Cost of machine [ £10,00,000 Z15,00,000
_Expected life 5 years 6 years
_Annual income before tax and depreciation %3,45,000 3 4,55,000
Depreciation is to be charged on straight line basis |
You are required to: ]
) Calculate the discounted pay-back period and net present value for each machine. '

hich machine they should take up.

(i) Advise the management of P Limited as oW

Atn | 893

> Learning objedtive




; ’ 2 Tmm A campany has 1o make a cholee between two machines ¥ and v The
(e No two machines are designed differently, but have identica| Capacil_
l__l“.["f‘.l_l!'_!t.',“. 1 o and do exactly the same Job. Machine X costs 2 550000 and v

_ last for three years, It costs 2 125000 per year to run, Machine Yi
h 1 TRANT an economy model casting ¥ 400000, but will last for two years anr;
costs T 150000 per year to run, These are real cash flows, The Costs are
forecasted in Rupees of constant purchasing power, Opportunity Coep
of capital s 12%, Ignore taxes, Which machine company should byy;

'T‘-' P Learning objoctive
“In

Ll )

DECISION MAKING ~ REPLACEMENT OF MACHINERY

P Ltd. has a machine having an additional life of 5 years, which costs
210,00,000 and has a book value of 2 400,000, A new machine costing
(lss Date ¥ 20,00,000 Is available, Though its capacity is the same as that of th
: old machine, it will mean a saving in variable costs to the extent of
?.700,000 per annum. The life of the machine will be 5 years at the
end of which it will have a scrap value of 2 200,000, The rate of income
tax Is 46% and P Ltd, policy is not make an investment if the yield is
less than 12% per annum, The old machine if sold today will realize
?.100,000, it will have no salvage value if sold at the end of 5th year.
Advise P Ltd, whether or not the old machine should be replaced.

Page No.

- (Present value of Re 1 recelvable at the end of 5 years at 12% per annum = 0.567). Capital gain is tax-free
- lgnore Income tax saving on depreciation as well as on loss due to sale of existing machine.

) P Leasning objective

WX Ltd, has a machine which has been in operation for 3 years. It

u remaining estimated useful life is 8 years with no salvage value in

1 2 the end, Its current value is 2 2,00,000, The company is consider'iﬂg 2

proposal to purchase a new model of machine to replace the existing
machine, The relevant information are as follows:

. _ Existing Machine o
corlolmaching | 330000 | 1000000
[ stitnated fife semeremr e ————t RS 1 Byedls -

Sabsng valuu i MO PSR ey
Annial output . _ __3_ptpglgqnﬁi_t_5__”'__ A e _7_5&299!,‘35
'-,g.;ilir'ag price e anig 15 - —

l-.rin_lu.‘aln;mmlinghmm; - L f 3,(}(}0' i 3000 .-

pesoams
e Mt erial co) jrer unit _ | S . : , e
‘ Labtuir cost per hour | L IR e
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Ranjan periwal '

Wer annum O
4. 50,000 65,000

; =il
TS

follows the straight |i
The company ghtline method of depreciation. Th
o - The corporate tax rate is 30% and WX Ltd.
does not make any investment, if it yields less than 12%. Present value of annuity of 21 :t 1n2% tLtd;
. ) Yo rate O
giscount for 8 yea rs' |sI 4.9.68. Presen-t value of 21 at 12% rate of discount, received at the end of 8th year
s 0.404. Ignore capital gain tax. Advice WX Ltd. whether the existing machine should be replaced or not.

P Leorning objective ]

A company wants to replace its old machine with a new automatic |
machine. Two models A and B are available at the same cost of 7 5
lakhs each. Salvage value of the old machine s 7 1 lakh. The utilities of |
the existing machine can be used if the company purchases model A.
Additional cost of utilities to be purchased in that case are 2 1 lakh. If
the company purchases model B then all the existing utilities will have |
to be replaced with new utilities costing ? 2 lakhs. The salvage value |
of the old utilities will be % 0.20 lakhs. f

{Cash inflow )
P.V.Factor @15%

Year/Model

1 1,00,000 2,00,000 0.87
2 1,50,000 2,10,000 0.76
3 1,80,000 1,80,000 0.66
4 2,00,000 1,70,000 0.57
3 1,70,000 40,000 050
Salvage value at

the end of year 5 _______59,_099____‘__ 60,000

The targeted return on capital is 15%- You are required to: o
rately, net present value, discounted payback and desirability factor

() Compute, for the two machines sepa

(i) Advice which of the machines s to be selected?

B Learning objective




Capital Budgeting

‘An investment of ¥ 1,36,000 yields the following cash inflows (; (pmm
before depreciation but after tax). Determine internal rate of retur,

~———

30,000

40,000
60,000

30,000
20,000

1,80,000

P Learning objective '

(’PN— A sole trader installs plant and machinery in rented premises for the
o 0 productlon of luxury article, the demand for which is expected to last
1 5 only 5 years. The total capital put in by the sole trader is as under:

CEL)

k(lnss Dm

5.5.5;

Year
Plant and machinery <2, 70 500
Working Capital 340,000
3,10,500

The working capital will be fully realized at the end of the 5th year. The scrap value of the plant expected 0
be realized at the end of the 5th year is only z 5,500.

The trader’s earnings are expected to be as under:

Year . Cash profit (before depreciation & tax) (% ) | Tax <
SESRITEL WES. SRS ) 20,000
B 130000 oy 30,000
30000 40,000
R S P N 26,000
S S N T T




o 08850 | 08770 .
o2 | ozest | ogess |06
LT+ | 06675
0.6133 0.5921 ‘- 0.5718
05674 -657{2___.._}__,_._____.__ __1-.__._;____
8 | os194 | 04972

o

=

R b . v

you are require to compute the present value of the cash flow discounted at the vari i 3

given above and state the return from the project. various fates of interest a

E

S P Leaming objective E‘
— oS |

NPV VS IRR CONFLICT

ws of two mutually exclusive projects are as under:

The cash flo

ProjectP’ (40,000)
Project’)’ (20,000)

Required:

(i) Estimate the net present value (NPV) of the project p'and ) using 15% as the hurdle rate.
IRR) of the project ‘P'and’’
IRR criterion?

hat criterion make a project choice.

i) Esti i o as base.
(i) Estimate the internal rate of return ( using 15% and 26% as bas

(ili) Why there is a conflict in the pr oject

(iv) Which criteria you will use in suchasit

choice by using NPV and

uation? Estimate the valueatt

fferent rates of discount are as under:

The present value interest factor values at di
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MISC PROBLEMS

XYZ Ltd. is planning to introduce a new product with a project (7.
of 8 years. The project is to be setup in Special Economic Zone (SEZ),
qualifies for one time (at starting) tax free subsidy from the State
Government of ¥ 25,00,000 on capital investment. initial equipmen:
cost will be ¥ 1.75 crore. Additional equipment cost 7 12,50,000 wil)
be purchased at the end of the third year from the cash infioy o/
this year. At the end of 8 years the original equipment will have ng
resale value, but additional equipment can be sold for 7 1,25,000 £
working capital of ¥ 20,00,000 will be needed and it will be relezs=4
at the end of eight year. The project will be financed with sufficizn:
amount of equity capital. The sales volumes over eight years haye
been estimated as follows:

Capital Budgeting

1,08,000 2,60,000 2,70000 |  1,80,000

A sales price of % 120 per unit is expected and variable expenses will amount to 60% of sales revents.
Fixed cash operating costs will amount Z 18,00,000 per year. The compa ny is subject to 30 percent tax rae
and consider 12 percent to be an appropriate after tax cost of capital for this project. The company follows
- straight line method of depreciation. Required: Calculate the net present value of the project and advise
- the management to take appropriate decision.

1 Note: The PV factors at 12% are -

FO units | 803

P Learning objective

o=



el mtad & et =
a useful econor;?: ?ilgen? g buying a new machine which would have |
value of 330,000 wi*f; g-oﬁve years, a cost of 21,25,000 and a scrap |
ctart of the bfo}éct ; . per cent of the cost being payable at the.
ot alaintas o d“ 20 per cent at the end of the first year. The l_
i estimateg 0 “tfce SQ,OOO units per annum of 3 new product |
¥ 750erunitand a:e ing price of 7 3 per unit. Direct cost should be T '
i LT ngal fixed costs, including depreciation calculated
aight- line basis, would be ¥ 40,000 per annum

In t

A ;h:d'?rSt year and the second year, special sales promotion

; penditure, not Included in the above costs, would be incurred, |

mounting to ¥ 10,000 and 15,000 respectively. |
stment appraisal,

Evalua.te the project using the NPV method of inve
assuming the company’s cost of capital to be 10 percent.

% P Learning objective

believe that the current capital :

structure fails to take advantage of tax benefits of debt and propose

project with undated perpetual debt secured on
s to issue sufficient debtto

The directors of the company

to finance the new
the company’s assets. The company intend
the cost of capital expenditure and the after tax cost of issue.

cover
st required by the market on

al gross rate of intere
is 10%. The after tax costs of !

The current annu
ndated debt of similar risk

corporate U
be 7 10 lakhs. Company’s taxrate is 30%.

e expected t0
ent value of the investment,

You are REQUIRED to: @|CUIW

_ P> Learning objective

issue ar

Capital Budgeting




After spending 60,000 on research, the company discoverag 1 T
the waste could be sold for T 10 per gallon if it was processeq furthe,
Additional processing would, however, require an investment s, :
6,00,000 in new equipment, which would have an estimated life o
L 10 years with no salvage value. Depreciation would be calculated , by
straight line method.

w For f_'?*.-.g osts incurred in advertising ¥ 20,000 per year, no change in the present selhpq and
xpenses is expected, if the new product is sold. The details of additional processing

)
b4
f h
m

-AQL

‘zrizble : T 5 per galion of waste put into process.
(Excluding Depreciation) T 30,000 per year.

There will be no fosses in processing, and it is assumed that the total waste processed in a given year willta
id in the same year. Estimates indicate that 50,000 gallons of the product could be sold each year.

v

ent when confronted with the choice of disposing off the waste or processing it further ra
Eks your ADVICE. Which alternative would you recommend? Assume that the firm's cost of
5% and it pays on an average 50% Tax on its income.

¥ou should consider Present value of Annuity of T 1 per year @ 15% p.a. for 10 years as 5.019.

ADDITIONAL QUESITONS FROM STUDY MATERIAL

A company is considering replacement of one of its old machinss
purchased three years ago at a cost of ¥ 5,00,000 with a life of 5 y=2%
[ It follows straight line method of depreciation. Annual revenue fro
the sale of the product manufactured using the machine is ¥ 5,50.00C
and the annual operating cost is ¥4,00,000. The current salvage vai
of the machine is 2 1,00,000. The cost of the new machine is ¥ S,GO.C:C*;‘I
and its salvage value at the end of its life 2 years is nil. The annu
operating cost of the new machine is estimated at 2,30,000 and ("
revenue is expected to be same as to that of the old machine.

| Identify relevant costs and revenues if any form the above informatio™




Parro :
W tLtd, is the manufacturer of 4 | .
order to modernize ) ot g
o e manufacturing f, ! |

Y a new machinery costing ¢ | St et e The o
cash flow before tax i g T10,00,000 at cash price, The annual
3,00,000 pa. The marginal the entire life span of the company 1 ¢
p.a. The scrap vah arginal rate of tax s 30% and cost of capital is 10%
negligible, The (To 1e at the end of the useful life of the machinery |5
of clnrrlinlg dep.rol?.pahy Is currently following a straight-line method

arg clation on machinerles, ( nk the project

financially viable? rles, Do you think the project is

The . .
= 30‘;‘{"“??"‘5‘ has an alternative to charge accelerated depreciation |
U

: y of the depreclable amount each for the first three years and @ I

109 for the fourth year. Does It change your suggestion? ]

low are some |

Assume a business thatnls'cbﬁsideringﬂii glven perect. Be
eated by the |

selected data from the discounted cash flow model cr

company'’s financlal analysts: :
ment of 21,91,315 and is expected |

A project requires an initial invest
following net cash inflows:

Year 1 (2018): 7 95,000; Year 2 (2019):¢ 80,000; Year 3 (2020): ¢ 60,000, ,
Year 4 (2021): ¥ 55,000, Compute discounted payback period of the |
_P@JEQ..!txhg.a_np_tgnrla_t@ discount rate for this project is 12%. |

to generate the

"XLtd.ha s a capital bu dgetof? 1.5crore
information relating to six independent proposals, select t.he projects |
if (i) the projects are divisible and (ii) the projects are indivisible.
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A limited company isconsideringinvestinga prOJem
u outlay of ¥ 2,00,000. Forecast for annual income after deDTEcxw;

5 but before tax is as follows:

1,00,000
1,00,000
80,000
| 80,000
! 40,000

(O I O B

o
£
b
o
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Depreciation may be taken as 20% on original cost and taxation at 50% of net income.

You are required to evaluate the project according to each of the following methods:

Payback period method

- Rate of return on original investment method
Rate of return on average investment method
Discounted cash flow method taking cost of capital as 10%

- Net present value index method

J B2



A company has justinstalled

of a new Drodu{:ts‘:t‘zta-“w a machine Model A for the manufacture |

costs are estimated a‘!’i';al cost of 71,00,000. The annual operating |

costs are estimated c;L ‘ hO'OOO _(E*Cluding depreciation) and thesell

anits of production Thn t. e basis of an annual volume of 1,00,0005!

output will amo -The fixed costs at this volume of 1,00,000 units of |
untto ¥ 4,00,000 p.a.The selling price is ¥ 5 per unit of:!

output. The machi
achine has a five-year life with no residual value. E

The company has nov

ik wh‘;chyis e t:; come' afcross another machine called Super!
g . pable of giving, the same volume of productioni
y 'est‘amated annual operating cost of 230,000 exclusives of‘{
-tel!:ureuatpn. The fixed costs will however, remain the same in value. :=
This machine also will have a five-year life with no residual value. The [
capital cost of this machine is ¥ 1,50,000. l
The company has an offer for the sale of the machine Model A (which l
has just been installed) at ¥ 50,000 and the cost of removal thereof i

will amount to Z10,000. Ignore tax.

Capital Budgeting

g cost, the company is desirous of‘;
del A and install-ing the Super Model |
A has not yet started commercial !

lag in the removal thereof and the |

in view of the lower operatin
dismantling of the machine Mo
Machine. Assume that Model

production and that the time
installation of the Super Model machine is not material.

alis 14% and the PV. Factors for each of the five years

The cost of capit
5,0.592 and 0.519.

|

respectively aré 0.877,0.769, 0.67 |
\

ould replace Model A machine by‘l
hine. Will there be any change in

your decision if the Model A machine has not been installed and the
companyisin the process of consideration of selection of either of the
two models of the machine? present suitable statement to illustrate

our answer.

State whether the company sh
installing the Super Model mac
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‘ ! A chemical companyis considering replacing an existir{g machfﬁ‘é;,ith

one costing 2 65,000. The existing machine was originally purchasay
two years ago for 7 28,000 and is being depreciated by the strajgp,.
line method over its seven-year life period. It can currently be so|q for
7 30,000 with no removal costs. The new machine would cost 2 10,000
to install and would be depreciate over five years. The managemen,
believes that the new machine would have a salvage value of 7 5 g
at the end of year 5. The management also estimates an increase iy
net working capital requirement of Z 10,000 as a result of expandsq
operations with the new machine. The firm is taxed at a rate of 557,
on normal income and 30% on capital gains. The company’s expected
after-tax profits for next 5 years with existing machine and with ney,
machine are given as follows:

Capital Budgeting

|© Withexisting machine With newmachine
1 l 2,00,000 2,16,000
2 ] 1,50,000 1,50,000
3 | 1,80,000 2,00,000
4 ;r 2,10,000 2,40,000
5 » 2,20,000 2,30,000

' Calcuiate the net investment required by the new machine.

If the company’s cost of capital is 15%, determine whether the new machine should be purchased.

A plastic manufacturer has under consideration the proposal of
production of high-quality plastic glasses. The necessary equipment
to manufacture the glasses would cost Z 1 lakh and would last 5 ye2!
The tax relevant rate of depreciation is 20% on written down value
There is no other asset in this block. The expected salvage value
Z 10,000. The glasses can be sold at ¥4 each. Regardless of the level
of production, the manufacturer will incur cash cost of T 25,000
each year if the project is undertaken. The overhead costs allocated
to this new line would be ¥ 5,000. The variable costs are estimated
at T 2 per glass. The manufacturer estimates it will sell about 75,000
glasses per year; the tax rate is 35%. Should the proposed equipm?“[
be purchased? Assume 20% cost of capital and additional workind

requirement, ¥ 50,000. it =

28

I ®U3 =




Particulars

_Purchase price

Overhauling cost

Cost of capital is 14%.

Yoy .
U are required to recommend which of t

%E?ipj{a!yg at end of life N
Overhauling is due at the end of __ Bth¥eal 100,000
R 00,000
Annual repairing expenses SRR
irin nses .l

. . .r'.;i.:f M'{”‘ f"". o~ 5 ;IJ: o
i gl ; L2 ]~ v'j .. > = OF 3 TETH

computer syste ;
Wou::J C(—j;r:f;t:_ 'rr; for its tesearch and developmens dodsion, witich
df?prr_oci;moh;; akh.The operation and rr,?ﬂ,,,‘,,ﬁ,:;:; "L_’
oot s st ». ffe expected to be 7 7 lakh per g”" 4 1 - ‘:w, :j

e useful life of the systern woutd be 6 years, skt OF ’:(:

~ Y W T4
sal value is 9/;366!6(5 tobe ¥ 11akh.

The i

Id‘ tangible benefits expected from the system in the form of
reducti ¢l rorn the system mn the o ©
i m;hin qe,!gri and draftsmanship costs would be 7 12 L o
P m. The disposal of used drawing office equipment 204 f e
initially is anticipated to net 2 9 fakh juipment 3nd furmituee

Capital Budgeting

As capital expenditure in research znd development. 2 O
would attract a 100% write-off for tax pum,y-;; 3, . - ol
from disposal of used assets may be considered tzx f.'e.e. :.*‘ ot
tax rate is 35%. The average cost of capital of the comp2ay

—
OF e

After appropriate analysis of cash flows, advise the comp2ry

financial viability of the grog_gsal. Ignore tax on sahvage vaive.

A company has to replace one of its machines, which has become
unserviceable. Two options are available to the company-

nsive machine (EM) with 12 years life.

(LM) with 6 years life.

it will be replaced at

A more expe

A less expensive machine
If machine LM is chosen, the end of 6 years by
another LM machine.

aintenance, running COsts and prices as under:

The pattern ofm

14,00,000 i

,UY, _______ . :
300000+ 1,310%

R MY 8

~300000 L

he machinés should be purchased.
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Royal Industries Ltd. is considering the replacement of one of its
moulding machines. The existing machine is in good operating
but is smaller than required if the firm is to expand it

condition,
old machine is 5 years old, has a current salvage valye

operations. The
of * 30,000 and a remaining depreciable life of 10 years. The machine |

was originally purchased for - 75,000 and is being depreciated at
5,000 per year for tax purposes.

The new machine will cost ' 1,50,000 and will be depreciateq
on a straight line basis over 10 years, with no salvage value, The
management anticipates that, with the expanded operations, there
will be need of an additional net working capital of " 30,000. The new
machine will allow the firm to expand current operations, and thereby
increase annual revenues of * 40,000, and variable operating costs
from * 2,00,000 to * 2,10,000. The company's tax rate is 35% and its

cost of capital is 10%.
Should the company replace its existing machine? Assume that the
loss on sale of existing machine can be claimed as short-term capital

loss in the current year itself.

A firm is considering an introduction of a new product which will have
a life of five years. Two alternatives of promoting the product have

been identified:

Option 1:This involves hiring many agents. Animmediate investment
of * 5,00,000 is required to promote the product. This will resultina net
cash inflow of * 3,00,000 at the end of each year for the next five years.
However, agents need to pay 50,000 per year. After the contract is
terminated, the agent has to pay a lump sum of * 1,00,000 at the end

of the fifth year.

Option 2: Under this alternative, the firm will not employ agents but
will sell directly to the customers. The initial cost of advertising is
2,50,000. This earns cash at the end of each year " 1,50,000. However
this alternative comes with a sales administration fee of * 50,000.The
firm also proposes to allocate fixed costs worth * 20,000 per year to]
this product if this alternative is pursued.

ement, which method of promotion is ‘Og’

Required: Advise the manag GHgBIEE
at the firm's cost of capital is 20%. -

be adopted? You may assume th




gz sBMANTS OF DIVIDEND DECISIONS- The dividend policy is affected by the following factors:

ME =

- {f r e . e .
puailabiity d i bu,)m 255 is in requirement of funds, then retained earnings could be a good
rce. Sirke @ S2VES the fioatation cost and further the control will not be difuted

z £ fr i T —
Cost davdz’k- :i the financing requirements can be financed through debt (relatively cheaper source of
frarel hen G should be preferred to distribute more dividend but if the financing is to be done through
fsci muse of equity shares, Lis better to use retzined earnings as much as possible.

Dividend Policy

Capital structore: An optimum Debt equity ratio should also be under consideration for the dividend

eTson.
Stack price: Generzlly, higher dividends increzse vazlue of shares and low dividends decreaseit.

smyectment opportunities in hand: The dividend decision is also affected, if there are investment
ererrnisies in hand, the company may prefer to retzin more from the ezrnings

Ertornal rate of return: If the internal rate of retum is more than the cost of retained earnings, it’s better to

distrExte the eamings 2s much as possible.

Trend of industry; Few industries hzve been seen by i
Hiongss 2208 & - -

fiom will have 1o pay dividend for survivel

Expectation of shareholders: The shareholders 2
for szquiar incomme, 2 () those who invests for growith.

-
-

sestors for regular income, hence in such cases, the

n be categorised in two categories: (i) those who invests
Generally, the investor prefers current dividend

TSt A
cre Fan the future growth

-

i mesirnents proposzls of the firm 22 10 be financed through retained earnings only.

ot

¥ 2o of retuen 57K cost of capital are constant

ot in which all investorsare rationa! and information

A

Perfect caginal marets: The firm operates ina mar
% Fesedy 2zl 1o 20
2 i _— it3 i ital gain): This
88022280 ¢t s 224 discriminztion between diidendincome and capufsi appreciation (capital gair :Th

T T A N _ 1 anplicability of the theory, since, the tax rates or provisions 10
Tr S PTT ‘gm 5 f%ﬁpf fﬁ,’:’h’: Uﬁf‘-ﬁ&f)ai apﬁ,, 3L
ax + e tris

@ e ey be different in different COU ries.

darly, these costs M3y differ country to country or market t0

N fontation, or transaction Cost SIM
“Efeen
5 et

o has perpetual e

|
.- b a0 2l equity frrnie 10 debt _g.l
O
e

“ e a5 iaR will change the growth rate and consequently the

1
temzin constant, because (hange @

VS wifi b sfecred.




Ranjan Periwal

CLOE? PRACTICAL PROBLEMS

g P Learning objective ]

‘WALTER MODEL

Sahu & Co.earns 2 Gfergﬁére having capitalisation rate of&d’pérrzm
and has a return on investment at the rate of 20 per cent. According i
to Walter’s model, what should be the price per share at 30 per cent 5
dividend payout ratio? Is this the optimum payout ratio as per Walter? E

D=L X% = 1,8
/

g » Learning objective l

The following information pertains to M/s XY Ltd.
( PagelNo. [Do0 . d
S _.#_,

(lass Da
I
() )

Dividend Policy

Earnings of the Company ¥5,00,000
Dividend Payout ratio 60%
No. of shares outstanding 1,00,000
Equity capitalization rate 12%
Rate of return on investment 15%

() What would be the market value per share as per Walter’s model?
(i) What is the optimum dividend payout ratio according to Walter’s model and the market value of

Company's share at that payout ratio?

g’ Learning objective . J

The following figures are collected from the annual report of XYZ Ltd.: |

L

Pogello. 1D]

———

(oss Date D 1D 122

ﬂ

e —“:-_F _ B R 7 (7 T FQ = P e D iR TR .
"g‘.’-‘_ti.E[Qﬁt_ (Ear) ,_‘____#,l., — T%%:at?: 30k ~\looxy ) LS
Outstanding 2% preference shares | =320 (e \ " H
; O'O_EC['LIIIY shares i | —— 3_|§_kh_5 A~ % \\QL !
[t i e m— UL VAL T =
= ---mﬂ[l__l_r]yegjmen_t____'{__'_______,ﬂ__ B . T \ &L ' —
LARLI R : Ir

L= -,--.-‘C.u..,. - P

a2




Ranjan Periwal

What should be the approximate dividend pay-out ratio so as to keep the share price at ¥ 42 by using
Walter model?

E P Learning objective

The following information relates to Maye—; Ltd:

)

-

S Puge No. 12

g i b

>F

g OO 3 g
Earnings of the company 2 10,00,000
Dividend payout ratio 60%
No. of Shares outstanding 2,00,000
Rate of return on investment 15%
Equity capitalization rate 12%

8 (i) Whatwould be the market value per share as per Walter's model ?

"} (i) What is the optimum dividend payout ratio according to Walter’s model and the market value of
company’s share at that payout ratio?

Subhash & Co. ¢ alicati 10
( Poge No. 192 u 0. earns ¥ 8 per §hare having capitalisation rate of

per cent and has a return on investment at the rate of 20 per cent
kﬂussl]m 219123

| According to Walter's model, what should be the price per share at 25
| per cent dividend payout ratio? Is this the optimum payout ratio

| per Walter's Model? /

Goldi locks Ltd. was started a year back with equity capi_t}:ul_af 240
lakhs. The other details are as under:

E.arnmgs of the compdny

‘  24,00,000
Price Eanings ratio | 125
Dwrdendpald Y f 7 3?0000
‘Number of Shares g 40,000

. a. Find the current mdrket price of the share. Use Walter's Model,
b. Find whether the company’s D/ P ratio is optimal, use Walter's formula

P Learning obiective




‘ ! The foiiowinginférﬁ;t-i'c;riisiﬁﬁﬂ!ieﬁ‘fé-?ou_-“ —&~10.

:. ] O?) P ‘_-T.i_,..-" W

.

59123

. = . ,i-.!:»«-—‘"

e - n'E

T ‘;‘_- fm..:?- :Zﬂf' - ) -
Sableghies, = e =-—-—_.,______z_ d I’f)’;‘? 3 o L i ) c
Total Earnings T 2,00,000 e _ 2mzEso =2
No. of equity shares (of ¥ 100 each) | 20,000 ¥ = p—— = "3000 ,'l.‘.i'. _ 4
Dividend paid 1,50,000 IS . 1oans e 2
Price/Earning ratio 125 > 2
: ~ o ol 2
[}

() Ascertain whether the company is the following an optimal dividend poli
i . b policy.
(i) Find out what should be the P/E ratio at which the dividend policy will ha\?r’e no effect on the value of

the share.
(iii) Will your decision change, if the P/Eratio is 8 instead of 12.57

> Learning objective

£ |

Poge No. 1 D>
s 0. 9]912 3

18% on its equity shares, having face value of 10 each.The payoutratio

is 36% and Price Earning Ratio is 8. Find the cost of equity according |
t's Model and Pr\¥nce determine the market value of its shares.

to
NP SR .o T o, 2 oy -
P = ¥ - (J¥1 4 D =

4 -
e & "';;{ -
e —,,J--} Hoiop
257,

-c_a-ﬁparwés ? 10 and the rate of

The earnings per share of a c )
capitalisation applicable to itis 10 pr Cent. The company has three
ividend i.e.(i) 50%,(li)75% and (iii)100%. Calculate

options of paying d , !
ot price of the share as per Walter’s model if it can earn a
'n of (2) 15, (b) 10 and (c) 5 per centon its retained earnings.

Ds -«-,o,r'z..-f-s;_}".:‘.:.%

-

% Learning objedtive

'WATER MODEL AND GORDON MODEL

o last year. The estimated |
rom the company is estimated to be 5%
ket price of the equity share if the |

ividends (i) rises to 8%, and (1) falls to 3%. |
given that the |

paid dividend at ¥ 2 per shar
he dividends f
ine the estimated ma

i oted growth raté ofd % an
Al mf?:!d ogut the present market p.rice of thlc shar‘n,
i f return of the EﬂuilY.'ﬂ!_ﬁ??lQLb.ls\}_f';? .

A firm had
rowth of t




fioving information is collected from the anmssi

1151 »o

1
- -:?yv’. »;
g J"

z - e s e it
§ Profit before tax 2 250 aore N M g
. - —— - - i o —— [ < oy -~ i A o % =
Tar rate 40 percent ==t T e
- L S R S . o1l 1. W TCET PEREST
€ | FRetention ratio 40 percent -. R
. —t o PETER T
Z | Numberofoutstandingshares | 5000000  EPLT LBEE_. . p. -
& | Eauity capitalization rate  -Si<C 12 percent ; it o R
Pate of return on investment =3 12percent  2t= 3 x{iogo~-VUsz) = |7
What should be the market price per share according to Gordon's model of dividend poiicy?
% P Leorning objedive
f‘{‘{,
— — e ————
The following information is given for QB Ltd. )
e 197 \ QY 2 Feenixnpl
R\ Ooss 213123
.'.r‘--— /
\ P‘B §
E2rring per sha e
Eoiming per share | 12 ot 21T
Dividend per share _ 3 &\ 77
Cost of czpital '. 18% ~of \2 X123
Internzl Rate of Return on investment ! 22% dLt- o I
Retention Patio_ 75% = P
. l \ 9/‘ \\: LE
Czlculate the market price per share using ce= 1R
(i) Gordon's formula u'\'-' X ¥ ='°
o =
(i) Walter’s formula Q

'S P {earning obiedive
2
o

MODIGLIANI MILLER APPROACH

- 5
i S, S '\‘)‘O‘?‘:\

RST Ltd. has a capital of 210,00,000 in equity share<of 2100 e3" -
shares are currently quoted at par. The company pr_opcseS}C’ “!"1 r
dividend of ¥ 10‘&5’§hare at the end of the current finangia! \-’c\j;‘“
capitalization rate for the risk class of which the comparly beloh=

12%. What will be the market price of the share at the end _,f.t_h

13

oyt

e

. (i} adividend is not declared 7

i —— {
@ (i) adividend is declared ? pt?
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ciofis= the manal pice ol e siar ol e Comcay, waen IS TPeTETD

- g r
8ac=d on M- Approach, 2Icia= T
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The eamings per share of a companyis ¥ 30 and divicﬁ?&ﬁu -
L i g = rati=
is 60%. Multiplier is 2. )

DETERMINE the price per share as per Graham & Dodd modg|

The following information regarding the equity shares oﬂm; )
given below: ‘

Dividend Follcy

35833
5
7

v s

So—ordimz 1o The Grzham & Dodd approach to the dividend policy, COMPUTE the EPS.

R T——

‘ ! Given the last year’s dividend is ¥ 9.80, speed of adjustment of 43%
target payout ratio is 60% and EPS for current year T 20. COMPUTE

1 9 C\Widend using Linter’s model.

‘ !T‘he dividend payout ratio of H Ltd. is 40%. If the comﬁany fc!i?"‘:
. traditional approach to dividend policy with a multiplier ¢ °

p ) B COMPUTE P/E ratio. -

Doy



Mr. Ais conten Iatmg pu?&ﬁaamﬁy‘saares of 2 Chnpany. |
His expectationlof return i€10% before tax by way of dividghd with an
annual growth of 5%. The Company’s last dividend was/32 per share.
Even as he is contemplating, Mr. A suddenly finds, due to a budget
announcement dividends have been exempted from tax in the hands '
of the recipients. But the imposition of dividend Distribution tax on |

the Company is likely to lead to a fall in dividend of 20 paise per share. |
New Dat 2 =20 = ‘QQ‘
NE"*—JD‘:‘ £ ?Qk—“‘f =\ 33
Calculate what should be Mr. As estimates of the price per share

before and after the Budget announcement? |

A's marginal tax rate is 30%.

P Learning objective

B g
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ANALYSIS NCIAL

coMPARATNE, COMMON-SIZE FINANCIAL
STATEMENTS AND TREND ANALYSES

Comparative Financial Analysis and Common Size Statement Analysis

usraton | SR NEACE Sl

from the following income statement prepare a common size statement and also interpret the results.

Income Statement for the year ended 31st March

Particulars [2020R) ] 2022Q)
Net Sales 10,50,000 13,50,000
Less: Cost of goods sold 5,70,000 6,45,000
Gross Profit 4,80,000 7,05,000
Less: Other operating expenses 1,50,000 2,16,000
Operating Profit 3,30,000 4,89,000
Less: Interest on long-term debt 60,000 51,000

Profit before tax (P BT) 2,70,000 4,38,000

w//‘ 512123

2017-18
Z (in lakh)

statement and comment on the results.

2020‘21 2021-22 i
= (in lakh) ; ¥ (in lakh)

co'“ =25t of Materials
ﬂ'\-q_-_-.-__
UI' cost

Conv boa
€rs
—_rérsion cost

,Sﬂtal Manufacturing cost
eles Revp n__ue
.(”045 pfgﬂt

_Olh,,! .merai in

Ootrating, ;;;;;fa“ """""""" =

R et o

Financial Analysis
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From the following balance sheet prepare a common size statement and comment.

Particulars ' Amount (2)
31.03.2021

Shareholders’ Fund o S 8 R | N

w» | Equity Share Capital (R10 each) 720000 | ;T_jo.,{};éd

%‘ Reserve & Surplus 288000 | 5_4*:"‘“!.

c% Non-current Liabilities ) , _n

= | Toratermaeht 546000 | 508000

;,E: Current Liabilities 1 LT.{,W.O
Current Liabilities & Provisions 240000 | 12§&%
Total 1800000 | 1950000
Non-current Assets |
Fixed Assets 12,06,000 11,70 '.f 000
Current Assets " o
Inventory 2,52,000 3.51.000
Debtors 1,80,000 1.95.000
Bank 1,62,000 234000
Total 18,00,000 19.50.000

SIEL

The following are the income statements of A Limited for the years ended 31.03.2021 and 31.03.2022

I nes2ai® 31032200

Net Sales -1,70,000" ! 1,90.400
Less: Cost of goods sold 1,05,000 1.20. 000 _
Gross Profit (P) 65,000 ‘ 70,400 |
Administrative expenses (A) 13,200 i'-i"‘ oO h
Selling expenses; T
Advertisement expenses Y R Y
Other selling expenses e e T
Total selling expenses (B) Py ~a3goo T asaco
Operating expenses (A + B) "‘3‘-;5‘00"“ 0760
Operating Profit (D) [D=P- (A+B)] L R
P Othef lqr,l‘co_'llles (E) =L e 7 N L '{),260.
: ~0ther expenses (F) ol ”hﬁ%‘m’“'mmw"“"*"E‘"{;ﬁﬁ”“" a0
2 .rf“rgﬂt before lax E{fBT)IPBTaD% E"E} T S et """‘):é“éb”"w’ T a040
; I _I”f_?__'f‘i o m : Siicun oy o T NIRRT Vol o IR T ry :;60
1= Profitafter tax. aX (PAT AT PBY =] T e mﬁfj{ﬁ R et 1
-—‘-_i B areﬂ E e i e i e L A S 3'8}32_,_ =11 #J‘
r pare a comparative income statement and comment on the performance of the company.
-
'




on 31.03.21 and 31.03.22:

P
repare Comparative Balan

Hlustration 6

ce Sheet and study it

e followind
T e T‘% 3103210
‘cash and Bank Balance V.5, (2 6@1‘) ) 33,500 G
Debtors (9.1 41 33060] T 38000
Tnventory (wan)| (ooo) ____#3_2999**#"‘23566
perCurentAssets ___[52:3 % .MMJ“’"“’W
Total Current Assets (A) (2351 2 ( NS crc:) ﬂ
,F;_xed Assets |
{and and Building (37-6v7 ) (2 STOR) 54,000) 34,000
plantand Machinery 153, S ) 62,000 157,200
Total Fixed Assets (B) 8 79c0TD 1,21,800| 2,00,800
Long-term Investment Q- 296 Y. ) 600 9,200 11,800
Total Assets (A +B + Q) 19 ALY Y C40OO 2,34,800;'- 2,81,200
Current Liabilities (D) ts1.537% __L_g’:f@), 52,400 25,400
Long-term Debt (E) G2.s/| 25000 49:000;& 65,000
Owners’ Equity: ¢ |
Equity Share Capital S o/, ___‘:[_Q—QP" 80,000 120,000
Reserve and Surplus 3. 16 ww
Total Owners’ Equity(F) w ‘/@1‘@ 1,42,400] 1,50,800
: 2,800| 2,81,200
Total Liabilities and Capital (D+E* a19.96/ | 1e4T0— D e e
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A partial list of trend and common-size percentages for ABC Ltd. is given below.

Particulars March, ;
current year } previous year

i Trend percentages:

] Sales (net) 120 100
% Cost of goods sold ? 100
g Gross profit on sales : ? 100/
£ Operating expenses and income taxes ? mEE
Net income ? 3095 :
Common-size percentages:

Sales (net) 100 100/

Cost of goods sold ? ]

Gross profit on sales 40 ?

. Operating expenses and income taxes | 50 35

i : ' Netincome i 20 g

Determme the missing trend and common-size percentages.

|1

|
i |
I




Ranjan pPeriwal

FUND FLOW AND CASH

FLOW STATEMENTS

From the followin

Income State

g Balance Sheet of PKJ Ltd., Prepare Funds Flow Statemen

ment for the year ended 31st March
Assets

_ [31:3:15 | 31-3-16 |
200 |Goodwill

t for 2016.

('000)

Fund and Cash Flow Statements

Liabilities

Equity Share Capital 150

9% Redeemable Preference 75 50 Land & Buildings 100

Share capital

Capital Reserve — 10 Plant & Machinery 40 100
General Reserve 20 25 Investments 10 15
Profit & Loss Account 15 24 Sundry Debtors 70 85
Proposed Dividend 21 25 Stock 39 55
Sundry Creditors 13 24 Bills Receivable 10 15
Bills Payable 10 8 Cash in hand 7 5
Liability for Expenses 15 18 Cash at bank 5 4
Provision for tax 20 25 Preliminary Exp. 8 5

____3_3_9__~ 409 il S 339 409

Additional information:

2.

of 25,000 was charged on p!
3. Aninterim dividend of 10,000 ha
4. AnAmounto

w

i e o S

Pfowsron for

LDepreciation on Plant

A machine has been sold for 5,000

——

ant in 2016.

21,000 has been recelved

50, ooa i

moon
770,000
~ 750,000

.--.'_‘_v________....-—-..-—-'

1. Apartof land was sold out in 2016, and the profit was credit
(written down value of them

ﬂ@bﬁi@. Rl

760,000
17, 000

56,000

s been paid In 2016.

as dividend on investment

1,50, ,000] F
b OUO

F -.u_nlturo at cost

50 U (}00

Froeh-old {and ad 2
Plant otcost L ..

I

in 2016.

ited to Capital Reserve.

achinery was 6,000). Depreciation | '

1,00000 10
1,04,000|

nvestments o o e

stock

o

e
i m—




[7L225
1!

1
(SO}
~
SO s Ranjan Pariwal s co s e R
'y i
e T
.

LIABILITIES Sl 2005(® | 2016(%) | ASSETS | 2015Q%)

-
h”

-

Provision for Dep. on 5,000 6,000 Cash 30,000 45,004
Furniture I
Provision for taxation 20,000 30,0001 "
Sundry Creditors 86,000 95,000 Yol

3,91,000 4,69,000 391,000 4.69,000

A plant purchased for ¥ 4,000 (Depreciation T 2,000) was sold for Cash for ¥ 800 on September 30, 2015 o,
June 30, 2015 an item of furniture was purchased for T 2,000. These were the only transactions concerning
fixed assets during 2015. A dividend of 22': % on original shares was paid. You are required to prepare
funds Flow Statement and verify the results by preparing a schedule of changes in Working Capital.

From the Balance Sheet of A Ltd., Please prepare:
A. A Statement of changes in the Working Capital.
B. Funds Flow Statement.

Fund and Cash Flow Statements

BALANCE SHEET
31st March 31st March

UIABILITIES 2015 %) 2016 R) ASSETS 2015 ()

Equity Share Capital: 3,00,000 4,00,000 | Goodwill 1,15,000 20,000
8% Preference share 1,50,000 1,00,000 | Land 2,00,000 1,70,000
capital & Buildings |
P&L AJc 30,000 48,000 [ Plant 80,000 2,00,000!
General Reserve 40,000 70,000 | Debtors 1,60,000 2,00,000
Proposed Dividend 42,000 50,000 | Stock 77,000 1,09,000!
Creditors 55,000 83,000 |Bills Receivable 20,000 30,640
Bills Payable 20,000 16,000 | Cash in hand 15,000 10,000
Provision for Taxation 40,000 50,000 | Cash at Bank 10,000 8,000
6,77,000 8,17,000 6,77,000 §,17.000.

Following is the additional information available;

() DepreciationofZ 10,000 and ¥ 20,000 have been charged on Plantand Land and Buildings respective'y
in 2016,

. (i) Interim dividend of 2 20,000 has been paid in 201 6.
{Hil)  Income tax of Z 35,000 has been paid in 2016,

M lllustration 4

From the following figures, Prepare a statement sh '
o 3 nas
Flow Statement during the year 2015, wing the changes in the Working Capital and Fun

‘_E T et 510,000 6,20,000
!nwsxms-nh SN R e 0420,
- s 30,000 A0 no
S
N
o
=
o

_ ment As;eu ' e o - B0.000
[‘3: Count on dehenture-s"- “"“T'" "““""*2352&99. = _H_Q:Z{SJ}OG

L P T




Ranjan Periwal A

Liabilities:

Dec.31,2014 |

Dec.31,2015

Equity share capital 3,00,000 3,50,000
preference share capital 2,00,000 1,00,000
“Debentures_ 1,00,000 2,00,000
Reserves _ 1,10,000 2,70,000
“Provision for doubtful debts 10,000 15,000
“Current Liabilities 70,000 1,45,000
SR 7,90,000| 10,80,000

PR

You are informed that during the year:

() Amachine costing ¥ 70,000 book value ¥ 40,000 was disposed of for Z 25,000.

(b)  Preference share redemption was carried out at a premium of 5% and

() Dividend at 15% was paid on equity shares for the year 2014,

Further:

1. The provision for depreciation stood at ¥ 1,50,000 on 31.12.14 and at 1,90,000 on 31.12.15; and
2. Stock which was valued at 90,000 as on 31.12.14; was written up to its cost, ¥ 1,00,000 for preparing

Profit and Loss account for the year 2015.

lNustration 5

The following is the Balance Sheets of the Andhra Industrial Corporation Ltd. as on 31st December 2015

and 2016.
BALANCE SHEET
Assets: | 2015 2016
_Fixed Assets: Property 1,48,500 1,44,250
Machinery 1,12,950 1,26,200
Goodwill S 10,000
Current Assets: Stock 1,10,000 92,000
Trade Debtors 86,160 69,430
Cash at Bank 1,500 11,000
Pre-payments 3,370 1,000
4,62,480 4,53,880
Liabilities: [ E2015 2016
Shareholders funds: Paid up Capital 2,20,000 2,70,000
Reserves 30,000 40,000
Profit and Loss Account 39,690 41,220
Current Liabilities: Creditors 39,000 41,660
Bills Payable 33,790 11,000
‘Bank Overdraft 60,000 >
Provision for taxation 40,000 50,000
B 4,62,480 4,53,880

D“fing the year ended 31st December, 2016, a divided of X 26,000 was paid and assets of anot
Were Purchased for ¥ 50,000 payable in fully paid-up shares. Such assets purchased were:

: ..] ' H |
Stock ¥ 21,640; Machinery % 18,360; and Goodwill ¥ 10,000. In addition Plant at a cost of ¥ 5,650 v.vas | g
Purchased during the year; depreciation on Property ¥ 4,250; on Machinery Y 10,760. Income tax during |-

76,300,

Cyear amounting to ¥ 28,770 was charged to provision for taxation. Net profit for the year before tax was i H

her company

Fund and Cash Flow Statements




Prepare Funds Flow Statement for the year 2016,

lllustration 6

Statement,

: , : 1 < £ 2 1t pwenars
From the information contained in Income 5tatement and Balance Sheet of A" Ltd, prepars

Income Statement for the year ended March 31, 2016

25200000

Ud T —— - - e e o
3 NetSales(h) W
- Less: R .
ﬁ _Cash rosl of sa_lcs - 1,98.00000
S _Depreciation - 600,000
% Salaries and |Wages 2450000
4 _Operating Expenses 800,000
Z _Provision for Taxation 8.80.000
<L A (B) 2.44.80.000
Net Operating Profit (A-B) 7,20,000
Non-recurring Income - Profits on sale of equipment 1.20,000
8.,40,000
Retained earnings and Profits brought forward 15,718,000
23,58,000
Dividends declared and paid during the year 7.26.000
Profit and Loss A/c balance as on March 31,2016 1638000

Balance Sheet as on

Fixed Assets: i
Lar)d 4,80,000; 9,50.000
Buildings and Equipment 36,00,000 | 57.80.000
Lurrent Assets: ! 15,000
,,C_ésh 6.00,000 7.20,000
Debtors | 16.80,000 18,60,000
- SR ‘ 26,40,000, 9.60.000
Advances 78,000! 90,000

———— 1. ¥
2 P 90,78,000]  1,03,50.000

Balance Sheet as on

Liabilities and Equity | ek
Sham Capitaf i 36,00 :
Surplu' in Proht and Luss A}c .- 1 ,g?g%g* *%@@‘
5 Sundry ¢ ( Jeditms L ] . '~ 3 3400*0(}64 _}ﬁ%ﬁ
oy 1 I:Oul,tanalng txpf:nss-s N ! Sz 240 GQOI s NG ,_-_f,____.m
I}I.E_ | Income - Tax payable : 1200001 ~A.80.000
Hestsmscrdd Accumutated Depreciation on - _ugeneo ... 132000
EREREEETRY _ﬂuilﬂiruﬁ dnd &qmpfﬂ!‘:!tt 'mjm

f;'('ré-'?ﬂ ) | |
L AT




The Balance sheet of JK Limited as on 31st March, 2015 and 31st March, 2016 are given below:

Balance Sheet as on
(000"

Liabilities | 310315 | 31.03.161| Assets 310315 | 13110316

ghare Capital 1,920 | Fixed Assets 3,840 4,560

Capital Reserve - 48 | Less: Depreciation 1,104 1,392

General Reserve 816 960 | Net Fixed Asset 2,736 3,168

Lseneral ™

profit and Loss A/c 288 360 | Investment 480 384

‘9% Debenture 960 672|Cash 210 312

“Current Liabilities

‘Proposed Dividend 144 174|Other Current Assets 1,134 1,272

(including Stock)

“Provision for Tax 432 408 | Preliminary Expenses 96 48

Unpaid Dividend - 18
4,656 5,184 4,656 5,184

Additional Information:

1. During the year 2015-2016, Fixed Assets with a book value of Z2,40,000 (accumulated depreciation

% 84,000) was sold for ¥ 1,20,000.

2. Provided % 4,20,000 as depreciation.

3. Someinvestments are sold at a profit of 748,000 and profit was credited to Capital Reserve.

4. It decided that stocks be valued at cos
less 10 per cent. The stock was T 2,59,200 as on 31.03.1
valued at ¥ 3,60,000.

5. The stock as on 31.03.16 was correctly

5. It decided to write off Fixe
has been provided.

6.  Debentures are redeemed at ¥ 105.

Prepare a Cash Flow Statement.

Mustration 8

Balance Sheets of a company as on 31 st march, 201

t, whereas previously the practice was to value stock at cost

d Assets costing 260,000 on which depreciation amounting to T 48,000

Fund and Cash Flow Statements

5 and 2016 were as follows: 2000) | i

Liabilities | 31,0315 | 31.03.16 Assets 31 -.1 31.0. il
Equity share capital 10,00000| 10,09;99.5153,99_%__[&'-— o 20000 |+
8% Pref, Share capital | ___2.00,000 —___3,00,000412 Land and BuRcing e 50,000 enel (]
General Reserve ~771,20,000 1,45,000 | Plant tand .00, 60, il

e T T772a0000] 220,000 I

PG TR s —“+—"""5% 000 {s (non Pl y I

Securi - 25,000 Investmen :
irities Premium C trading) oo ';!'BE)-OFOO — ”;m
ProftEow Al | 210000] 300002 sl,jt;::(orsﬂhmmm o w.

119 5 "% 00,000 300,000 [Debtors |

Crz’;[:ebentures L 215 Cash and Bank __ | 88,000 93,000 l

Lreditors | 1,85.00 ( !




Fund and Cash Flow Statements

- T

Uabilitles | 31,0315 | 310346 | Assets | 31.03.15 | 31037
Provision for tax 80,000 1,05,000| Prepaid Expenses 15000
Proposed Dividend 1,36,000 1,44,000 | Premium on - ME;EO}J;}

Redemption of '
debenture
24,31,000|  25,34,000 24,31,000] 2534009
Additional Information:
1. Investments were sold during the year at a profit of ¥ 15,000.

2. During the year an old machine costing ¥ 80,000 was sold for ¥ 36,000. Its written down value vas 7
45,000.
3. Depreciation charged on Plant and Machinery @ 20% on the opening balance.

4.  There was no purchase or sale of Land and Building.

5. Provision for tax made during the year was ¥ 96,000.

6. Preference shares were issued for consideration of cash during the year.

You are required to prepare Cash Flow Statement as per AS-3.

Illustration 9

The Balance Sheets of a company as on 31st March, 2015 and 2016 are given below:

Liabilities 31.03.16. |Assets

31,0315 [/31.031168
38,40,000|  45,60,000

Equity Share Capital 14,40,000| 19,20,000 [ Fixed Assets
Capital Reserve - 48,000 | Less: Depreciation (11,04,000)| (13,92.000
General Reserve 8,16,000 9,60,000 27,36,000] 31 ,68.000
Profit & Loss A/c 2,88,000/  3,60,000|Investment 4,80,000] 384000
9% Debentures 9,60,000 6,72,000 | Sundry Debtors 12,00,000| 14,0000
Sundry Creditors 5,50,000]  5,90,000Stock 1,40,000]  1,84000
Bills Payable 26,000 34,000 | Cash in hand 4,000 #
Proposed Dividend 1,44,000 1,72,800 | Preliminary Expenses 96,000 48,000
Provision for tax 4,32,000 4,08,000 —
Unpaid Dividend | = -=e-o—mee- 19,200

46,56,000| 51,84,000 46,56,000] 51,8400

' Additional Information:
During the year ended 31st March, 2016 the company;
Ed on it

1. Sold a machine for ¥ 1,20,000; the cost of machine was ¥ 2,40,000 and depreciation pr ovid
was ¥ 84,000,
Provided T 4,20,000 as depreciation on fixed assets.

Sold some investment and profit credited to capital reserve.
Redeemed 30% of the debenture @ 105,

00 hds

Decided to write off fixed assets costing ¥ 60,000 on which depreciation amounting to 7480
been provided.

You are required to prepare Cash Flow Statement as per AS-3.




